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Choosethe corract answers. __ {0 XE=Tw=
The sum of- th@dlmts of the denomifnacer in the sm‘*plest form of !—% Vo i

a4 - ;W5 ; @s' - dy7

PP -3 - s e (=1 | ts za2 v got 25 ra) a4t by 5 c) 6t @]7;

IF Ib" =10, then xis | Mg bys. . 6@_5. d} 7

1f the area 1 of & square is 36x%y?, therl 15 Slte 1

CE e L py ey b’_‘zy ' : d‘,n-6xy

(a- b} = Jandab =5 then al-b¥= cedeere :

a)15 @yis - - g c) 62 ~dyn

The product of LCM and HCF of two numberc' is 24 If Gne af lhe nur\iber is6, then t‘ne ather
AUMDBDEE IS oicriininnin - :

a) 6 b)Z ) I @ 3

By sellmq a aiower ot for Rs. 328, a woman gains DQ% powhat price SN:su.d she sell ik to

" galn 25%7? a)Rs. 510 b)Y Rs. 650. ¢} Rs. 553 @RS 573

If AABC ~ APQR in wheh A = 53%and Q = 77° thgg R Is.

a) 50° b) 60° ; o o a @ 80°
Inclusive series 18 8 vrvvvvourn, series. Ee =

a) Continuous ’B Discontinuous ~ ¢) Both | . . d)None
EVEry .ioviciaees T number of the Fibonaccl sequence is multiple of 8.
a) 2@ . bJ g - c) 6% . ' -oodjam

Fill in the blanis. 5X1=5

()

The cross section of a solid ‘,ylmder is . S
A alone can do & piece of work in 35 days If B is 40% more efﬁcnent than A, then B will r.mbh_

the WOTK [N eseemevnrarsins days. . _
in any triangle .......... ..., Sides are opposite to equal anglt_eS-_
Pie chartiS @ wvoerrerivincn g_raph. T
True or False. ) =
'f% is greater than 1/
S\ btracting 1% from 1729 gives 92, _ ) e
Linear equation in one variable has only one va riable WIFh power 2,
(-9, 0] lies on the X - axis.
Mecﬁa and business people use piz charts. ; - - s
Match. :
(37 - 20
A Cube Ungrouped data
Yy=10 -5 f?ces
; "‘B&;aa of agrapeziom - 31 5 ' A SrrrEaR, v el
- _ |z Mg y i 5
I'graph iy RENET Uhenin sy 12 X 2 24
Ans’ﬂer the fnuDW!ﬂg (zmv 1 2}, Copurt e N, ;
Findthe o\ o AR i o TR _
il RN R AR 5 ﬁlge 1

10&3{)67‘@“ squal’e nu
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- 28,
30.

) 31‘;
32,-'"
33

34,
35.  49©
36

.37
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39.

40,
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is 21 cm and lts central angle is 120°

“rie-radlus of 4 SEC10T
: dius of 85 oy 3yiz an 4 -2,

Find thi duct 9 5
Find thee fgﬁ:me f 2 g cube W?':Gse s:de is (x + i) amns

Factorize s oy 4+ 25.
solve | 75 BT
alve ! 527 5
One 3 s SSEVE" t’mes another 1f their dlﬁf;l‘eﬂce lsglio;gdafhennfgif:m
Find th difrerence Tn C.1. and = 1, for P~ 000, ©
s 3290 . number?. i TN
48 19;;‘% Ofv\:;leli can do & piece of WOI'( m 16 e ﬁﬂd A aloﬁﬁ can do’*}t in 48 days HOW
A and’ 0ge ! g
: e .hi?.w_ojh. e | o .

long will ; dl;ee EUI ;—'a*?:;f’;gﬁn ¢ awall a‘t-hefg-ht of 16 feet gabom the. ground How far_.'_s ‘!‘.hg__
A 20 ﬁeet: a b -
“hase of the iadder from the wall? 4

' Represent the fol

AT,

" - perimeter O of &
. Answert

43.

46.
47.

Gy

49.

50.

51..",
" remaining work in 24-days., Fi

52,

AR

: -;3 7

A rocket drawingd has t

Find the vqu

~oraw a pie diagram-to repr
d cuftwatlon in2 acres-cf la"id

o!!owzng tnangle

P - -
ency table which gives the n-umber__:of
1 2,’6 —;1 4 s )

Fmd the uﬂknowr: side in

lowing-data in un grouped frequ
children in 25 ramilies. 1,3,0,2, 5.2, 4,1;,,5 4,3,1,3,2 5,2,1
uUsing repeated sU btractim ‘method, find the HCF of 42 and 70.
Forr additive cipher table (Key = 4y. ' - .
ABC 'fs a yrizngle and G is. mtsuentmad If AD = 12 T, BC = 8¢m an__d EE

BDG.
he fo’llowlng (any 7). ‘
write the followmg rational 1 numbers in ascending an

15 14 :§

=" 00 15"
of 17 long dl\nston methcd

Fmd the square root of 17956 by
he measures as given in the ] Fgure

_ & cm, find the
7x5=35 -

d descending order.

2y (x 1) and {x - 3).-

Find its area.
en m how many days w:H 28 men

me of the cubo d whose dimenslens are {x +
ng 7 hoursa daveean do a work in 24 days thi

ompiete the same work? -
ch shows the expnndsture Dl‘ pa ddy‘;

48 meh Wor
esent the foliowmg data, whi

woBdng® nOUTS day can ©

Harvest Otherﬂ‘

particulars " seeds P'ougrmg Wages : ; FEF’“HI!Zer
_ Expenses 7000 '_ 6000 10000 »  F0E0v 8000-- 3000
.The drstrlbut:on of he|g his (!n—-am) of 100 peaple is gwen belcw Con_»tru:::t a histogram and
" the frequency polygon imposedon it
Height (in cm) 125- 135 135- -145" 145 1“55 155-165 165 175 . 175- 185 185 195;
e 24 - A5 77 ar __',f
. b

.. Using repeated dlws:on e

: field is 154 cmn., find
Answer all the ‘questions.

12 22 < 1B e
thod f'"nd the HCF If Foz and 25 :
5. He works it at for 15 days and then, "alone leshes the:

nd the tlrne taken to corm ptete 80% Df the work, |f they Work“

Frequency .

A can do a work in 45 day!

angular ﬁeld exceeds lts breadth by 9 n’ieters If the penmeter of the

the length and: breadrh of the field. =~
C 2X 8 16-::

1thA8-5cm Bc 45cerD=qBCmrD_A 44cm,

. (OR)

:?Q.Qether :
The Jéngth of a rect

. Construct a qdadrjlateral w

AC = 6.2 cmsalse find itS area
; _ronS‘NCE a square LAMP of S _,lda 4crm.. Also fi Fnd |ts area.
. Graphtnegqation y'= X ¥ 1. (OR) , ,
L 1€ Ine Nk P(5, 3} Q ( -3, 3) R ( 3, 4} ahd S form e rectangie, thpn ﬁnd the coordinate of Si..
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